



**Senate**  
of the  
**Student Government Association**  
of  
**The Johns Hopkins University**

*{ S. Bill. 22-23, 41 }*

**ACT TO ESTABLISH FUNDING FOR THE 2023 SGA STOREFRONT**

INTRODUCED BY: SECRETARY **ELAINA REGIER** AND  
DIRECTOR **MILTON DIAZ** AND  
CONSIDERED THIS **4TH** DAY OF **APRIL** IN THE YEAR **2023**

SPONSORED BY: SENATOR **MUFASA CRUZ MORENO** OF THE JUNIOR CLASS AND  
SENATOR **IRELAND PARRISH** OF THE JUNIOR CLASS

REFERRED TO THE SENATE BY THE **COMMITTEE ON FINANCE** WHICH RECOMMENDS ITS **PASSAGE**  
BY A VOTE OF **7** TO **0**.

*Be it enacted by the Senate of the Student Government Association of The  
Johns Hopkins University assembled that:*

**SECTION 1. TITLE.**

This Act may be referred to as the “SGA Storefront Funding Bill,”

**SECTION 2. DEFINITIONS**

- (a) SGA — The term “SGA” shall refer to the Student Government Association of The Johns Hopkins University.
- (b) JHU, Hopkins — The terms “JHU” and “Hopkins” shall refer to The Johns Hopkins University.

**SECTION 3. FINDINGS AND PURPOSES**

(a) FINDINGS

- (1) Throughout March, SGA hosted a storefront offering t-shirts and crewnecks in a variety of seasonal designs. This storefront will continue to be open for the remainder of the year until stock runs out.
- (2) 61 customers ordered a total of 116 items, contributing \$2203 to Senate funds after tax.
- (3) The order will be placed via FreshPrints after the passage of this funding bill for delivery in late-April.

(b) PURPOSES

- (1) Fund the order of customers’ purchases.
- (2) Fund the order of 140 t-shirts for SGA to give away for the remainder of the year.
- (3) Fund the order of a small quantity of each item to stock the storefront for the remainder of the year, or to be given away if not purchased.

**SECTION 4. FUNDING**

Item	Amount	Link/Picture
Cherry Blossom T-Shirts	32 at \$16 each \$512 total	<a href="https://www.freshprints.com/product?styleCode=G500&amp;h">https://www.freshprints.com/product?styleCode=G500&amp;h</a>

		<p><a href="#"><u>ex=%2523971B2F</u></a></p> 
<p>Tulip T-Shirts</p>	<p>22 at likely \$12.50 each (would need to confirm quote)</p> <p>\$275 total</p>	<p><a href="https://www.freshprints.com/product?styleCode=G500&amp;hex=%2523971B2F"><u>https://www.freshprints.com/product?styleCode=G500&amp;hex=%2523971B2F</u></a></p> 
<p>Sandcastle T-Shirts</p>	<p>13 at likely \$12.50 each (would need to confirm quote)</p> <p>\$162.5 total</p>	<p><a href="https://www.freshprints.com/product?styleCode=G500&amp;hex=%2523971B2F"><u>https://www.freshprints.com/product?styleCode=G500&amp;hex=%2523971B2F</u></a></p> 

<p>Cherry Blossom Crewneck</p>	<p>19 at \$21 each \$399 total</p>	<p><a href="https://www.freshprints.com/product?styleCode=G180&amp;hex=%23273B33">https://www.freshprints.com/product?styleCode=G180&amp;hex=%23273B33</a></p> 
<p>Autumn Leaves Crewneck</p>	<p>17 at likely \$24 each (would need to confirm quote) \$408 total</p>	<p><a href="https://www.freshprints.com/product?styleCode=G180&amp;hex=%23273B33">https://www.freshprints.com/product?styleCode=G180&amp;hex=%23273B33</a></p> 
<p>Winter Snow Crewneck</p>	<p>13 at likely \$22 each (would need to confirm quote) \$286 total</p>	<p><a href="https://www.freshprints.com/product?styleCode=G180&amp;hex=%23273B33">https://www.freshprints.com/product?styleCode=G180&amp;hex=%23273B33</a></p>



The total amount withdrawn from Senate funds would be \$2042.50.

Recall that customers contributed \$2203 to Senate funds. Considering this, SGA gains \$160.50.

### **SECTION 5. SEVERABILITY**

Should any provision of this Act, an amendment made by this Act, or the application of such provision or amendment to any person or circumstance is held to be unconstitutional, the remainder of this Act, the amendments made by this Act, and the application of such provision or amendment to any person or circumstances shall not be affected thereby.

THE BILL HEREBY **PASSES** BY A VOTE OF **16** TO **0** WITH **0** ABSTENTIONS.

UPON PASSAGE, WE HAVE HEREUNTO SET OUR HANDS AND CAUSED THE SEAL OF THE SENATE TO BE AFFIXED TO THIS BILL INDICATING THE SENATE'S ASSENT AND THUS OFFICIALLY DESIGNATED THE BILL'S ADOPTION AS LAW.

**Signatures of Enactment:**

---

**BREANNA SOLDATELLI**  
**STUDENT BODY PRESIDENT OF THE JOHNS HOPKINS SGA**

---

**KOBI KHONG**  
**PRESIDENT OF THE SENATE**  
**VICE PRESIDENT OF THE JOHNS HOPKINS SGA**

---

**ELAINA REGIER**  
**SECRETARY OF THE JOHNS HOPKINS SGA**

---

**KYA NICHOLSON**  
**TREASURER OF THE JOHNS HOPKINS SGA**

**Signatures of Ceremony:**

---

**ELAINA REGIER**  
**INTRODUCER OF THE BILL**

---

**MILTON DIAZ**  
**INTRODUCER OF THE BILL**

---

**MUFASA CRUZ MORENO**  
**CO-SPONSOR OF THE BILL**

---

**IRELAND PARRISH**  
**CO-SPONSOR OF THE BILL**